5)

6)

7)

9)

10)

11)

12)

a) STaI b) 18T c) fferr d) aser

‘€T AT AYseram 372 HoTdr ?
a) ©g b) =g c) Tt d) @1

feoiean s HeAgIEeEe AT 2rsq YA fasT. dodi auiccR HeRT BIUIRT Helcdd

a) dcadgicaa b) eraTedy c) gaoT Hegleqd d) Irder Ag.
@relter Yehr faecuref Fdeer e 3ear.

a) IUS X FE b) S=H X Hg

C) UeFhT X el d) I g X IRW

39l TSR HIoTd ?

a) 9 ATRA b) el - 10T - Hal

c) fam d) AT S
Grelerdehr 3[ee s 3NcaT.

a) HIHIR b) IRAR c) §UaR d) ¥frarR
Grellel ATFIVARTAT Ay AT=r 93 fAgs.

gAY MBUr

a) gd gor b) foRTer gror c) g <ol d) wafaor

Choose an appropriate adjective and fill in the blank.

A piginthemudis ............ .
a) bad b) dirty c) great d) beautiful

Select the correct opposite of uninterested x
a) disintrested b) intrested c) like d) dislike

Choose the correct word meaning

Tomorrow
a) yesterday b) the next day
c) today d) the day after tomorrow

Fill in the blanks with appropriate joining words
She is intelligent ................. lazy.
a)and b) but c) so d) or

Fill in the blank with correct article
'S verreerenens beautiful day !
a)a b) an c) the d) none of these




13) Fill in the blank with the correct preposition.
Sayali aterice .............. dal.
a)on b) under c) with d) at

14) Which of the pair is not correct
a) tall man b) hot tea
c) beautiful dress d) black Parrot

15) Which is sound made by dog?
a) barks b) coos c) roar d) moo

16)  gehrar 9AT fAqsT.
a) derer e 3nfor ffauaiaed Arear gAmNd Sfiasacd 3adid.
b) HTS-GTS dheledT SJIGUMT Tdh TdeT 8id.
C) FIYAAT HIGAT T $d Ydedlel Aol Siiderded e W@
d) adrerd<hr Ta.

Select the Incorrect Statement

a) Potato chips and soft drinks have high food value

b) Eating food in hurry will help in digesting food faster

¢) Washing of vegetables and fruits after cutting them will keep the nutrients intact
d) all of these

17) @reiledenr A9 ey fagsr.

a) &l - BT 3R b) da&- ATdeler Trofr
C) &XUT - @R qrofr d) ¥ - TTS Tl
Select the correct match from the following

a) Valley - Small low mountain b) Pond - Still water

c) Dam - Salty water d) Ocean - Fresh water

18)  Wrellde HATd HEMT GBUT - UMY T HIUT?

a) Jed b) fa#TT c) AR d) s
Which of the following is the most expensive means of transport
a) Train b) Aeroplane c) Car d) Bus

19)  TINTUhT IV Sl HSITTAT Hecllad HdT?

a) oW Frqor b) ST graRor

c) NI Ao d) afreddr ga
Which of the following we should do with the help of an adult?
a) Cutting nails b) using scissor

c¢) Learning Swimming d) All of these




20)

21)

22)

23)

24)

25)

26)

Which of these is not necessary ?
Wash your hands .....................

a) Before Eating

c) Before going to the toilet

GrelloTdehl SHIUTAT YTATAT HET 3R,

a) A b) A
Which of the following is a part of leg?
a) Thigh b) Wrist

AT A, ?

a) Txdrel &l U

c) ghdT ¥ IS

Complete the hindi proverb
Ulta chor ............ ?

a) Gharwaale ko pite
c) Vakilse ruthe

grele Y1 AraafAfda gudr sHordr 2

a) T b) oTehs

b) SIGUTAR

d) s MeAIR

b) After Eating
d) After going to the toilet

c) HIW d) @rer

c) Elbow d) Shoulder
b) sIddrel &l 3¢

d) RS Fr 92

b) Kotwal ko daante
d) Sipahi ko lute

Which of the following is man — made wealth?

a) Sweater b) Wood

gy 9I3H YSedIa HIUId Fehe Id?
a) HETQ b) drce

Which crisis cames after the heavy Rainfall ?

a) Flood b) Strom

U@ﬁﬁ@rgﬁmmeﬂm

a) S8 olrar. b) =13 drear
Find wrong option from the following
a) Plants trees b) Grow Trees
SATHT TSI ..o, cd
a) ool b) 3T¥IX

Land IVES US ....ccuveeeereeerecrecreeeenens

a) Food b) base

——

c) Sg@ferel d) AT
c) Iron-Ore d) Soil
c) S d) gehIcs

¢) Land d) Drought

C) TSIl 3o 1. d) FTS g el

c) harm trees d) Don’t’ Cut trees
c) dIat d) gar
c) Power d) Air
)|
)



27)

28)

29)

30)

31)

32)

33)

34)

GrelleTdehT gl I 3HUTRT Holld ShIuTAr?

a) IMA b) dWue c) Fid d) aar
Which of the following living being have two legs?
a) Crab b) Parrot c) Spider d) Horse

GTolTeldeh! T Afgaara 3¢ fgw 3rg@ara?

a) Titer b) thsarT c) A d) ST
Which of the following month has 31 days?
a) April b) February c) May d) June

FARTEARTS ey S8 IoTcr?

a) cfeior - 3W b) 9@ - 3

c) gfea# - giayor d) Ir Yhr ATEr
Which of following directions pair is face to face.

a) South - North b) East — North
c) West — South d) None of these

IS TR AR TAR GIelid?

a) IS b) oh@s c) T d) Sr9d
Motor tyres are made up of .........cccceeenenes ?
a) Cloth b) Iron c) Rubber d) Cotton

Grellcldhr HIUTT Bs 3Te?

a) THE b) TG c) e d) e
Which of the following is fruit ?
a) Tomato b) Apple ¢) Pumpkin d) Cabbage

FrelledehT 0T Fell AR IRITITT 3ugeFd =Tl

a) g b) I SATOT

c) Tgellell SO d) §dd fe.=f. rgor

Which of these activities is not a healthy means of recreation?

a) Practising yoga b) Going to fairs

¢) Going to Picnic d) Watching television for a long time

ERTEAT THR T JTUR FHAHS fASAT 2

a) @iy b) &TeTsT c) &g d) caar
What gives support and shape to our body ?
a) Joints b) Skeleton ¢) Muscles d) Skin

Grefterdhr Ao ST Hrordr ?

S IGIGIC R ED b) feaTel - FAIaTe

c) IHST 3¢ - T d) EERT - ArdTFaliar
Which of the following is a correct match

a) Christmas — Crackers b) Diwali — Balipuja

c) Ramzan - Id — Colour d) Dussehra — Santa Claus




35)  Wrelterdehr f@ e ufger eaiere ivra 2

a) % - &AlTh b) & Mfde &g

c) 9% ATEBTEGT d) 9% 3ol &g
Which among the following was the first Guru of the Sikhs?

a) Guru Nanak b) Guru Gobind Singh
¢) Guru Tej Bahadur d) Guru Arjun Dev

36) fOIr Rlgasr dled @R gimell, X Radsr Bamr Fior 31e.

a) Ucell b) Tt c) HATeTorell Ul d) gl aq
Priya is engaged with Shivtej. Shitej is ............. of Priya.
a) Spouse b) Husband c) fiance d) All of these

37) dEd o FEVIRT 99T fAgsr.

a) gRaETiReRr b) sierex c) or@mITel d) ereafadrcas
Select the odd one out
a) Nurse b) Doctor c) Accountant d) Surgen
38) EIAATIS FaAld ofglel U HI0TAT ?
a) g4 b) U c) gdr d) AT
Which is the Smallest Planet in our Solar System?
a) Mercury b) Venus c) Earth d) Neptune

39)  UdeTdEh UId HRAHD THIATT ?

a) arT b) grofr c) 9% d) 3mer
What makes the blades of a windmill rotate?
a) Air b) Water c) lce d) Fire

40) gEeege YT fauE Hord ?

a) ¥F 9gIe ufadegs 3eradr. b) FAHS f&ad Ider 0T dsredr gia.
c) FF & R 3. d) FIHAS TehIer g ISUTT fAes.

What is incorrect about the Sun?

a) The Sun appears to rise from the west in the morning
b) The sun makes the days warm and bright.

c) The sun is a star.

d) The sun gives light and heat.

41) @relleddr Iy faene HIord ?
a) g OV dlggs &A1 31 e b) =T & ATEUT &AT STl 37Med.
C) dIEIOT HIUT TATE & Hsuled 3Med.  d) 3HTedrd RYY o1 3.
Which of the following sentences is correct ?

a) Wheat and rice are Pulses. b) Pea and gram are Pulses.
c) Pea and tomato are cereals. d) Mango has many seeds.




42)

43)

44)

45)

46)

47)

m@aﬂﬁ%&m&a@m%emﬁ?

/
®

a)@ b)%@

— d) All of these

GrelleldehT TR HEQr dglrd AL HI0TT ?

a) IAATIT b) 3Teprrarofr c) e
Which of these is a mean of mass communication?

a) News Paper b) Radio c) Television
GY § Hhd 3ol 3§ PROT AT oo 3r|ad ?
a) ufaar b) f&9er gerey
c) @iaar 3nfor Shasaea d) adrerddr aa
Milk is a complete food because it contains ........cccccecveeuennen. .
a) Protins b) Fat

c¢) Vitamins & Minerals d) All of these

Grelerddhr AT S8 HIorer ?

d) aderddr a9

d) All of these

a) TGS Jeell - HTeh b) SrerTdT STIeRT - 3T

C) ST TS - Pl d) Il FHelN - FoId HTS

Which of the following is a correct match?
a) Grandfather’s wife — Aunt

b) Uncle’s wife — Grandmother

c) Mother’s father — Uncle d) Uncle’s Son — Cousin
YT AT AT T 3787?
a) 9IRd b) Hs c) HBRTSE d) IeRIT

What is the name of our state?

a) India b) Mumbai c) Maharashtra

3T9uT HoreaT fealt Tarasa T TRt Hdr?

a) ¥ slegey b) ¢4 IRREC C) € SATART
When we Celebrate the Independence Day?

a) 14 November b) 15 August

c) 26 January d) 17 September

d) 2 ISR

d) Gujrat



48)

49)

50)

51)

52)

53)

53)

54)

55)

ShHS BT oo, T AETA?

S
a) TJ UG b) Sacir c) ST
People have the habit of ........cccccueueee Due to bank.
a) Spending b) Saving c) Interest
AT o SHOR UG NSl
a) ¢3 b) L& C) €9
Odd man out
a) 83 b) 76 c) 65
g + % + 3R =7
a) &¢ b) b c) ¢3
25+17+39="7
a) 61 b) 71 c) 83

0 TAY + o TAY + b FYY = fohcy TIA ?
a) 33 T4 b) ¥ T c) 3 FYA

20 Rupees + 10 rupees + 7 rupees = ....c......... rupees?
a) 35 rupees b) 45 rupees c) 37 rupees

Grellerddhr SRR featien HIoTAT?
a) 3¢ SaRr b) 3¢ Tider

Which of the following is correct date?
a) 31% January b) 315 April

c) 3¢ Sl
)
c) 315 June

SR 3eAT JRAR e, I FHlel HIUTAT dR BIAT?

a) JFAR b) HIBAR c) ¥faar

If tomorrow will be Thursday, then what day was yesterday?
a) Thursday b) Tuesday c) Sunday

QYR T HEAT 8 HIUTAT TUTT TR,

a) o b) erdsh c) Tahadh

In 952, the digit 5isin ................ Place

a) Ten’s b) Hundred’s

TH Th X A3 = fhdr ?
a) S5 slcdg b) TR AF
One hundred and one x nine="?

a) Nine hundred and ninty
¢) Nine hundred and ninty nine

o IH - 0 IH = fhdr IJA?

a) be b) 30 C) W
50gm—-20gm = ...ccccerrreuenne gm?
a) 70 b) 30 c) 20

c) One’s

c) dAFY AU

d) 40 rupees

d) 3¢ IR

d) 315t Saptember

d) AR

d) Friday

d) arr

d) Fives

d) I3 I35

b) One hundred and nine
d) Nine hundred and nine

d) ¢o

d) 80




56)

57)

58)

59)

60)

61)

62)

63)

8¢ + [ ] = o Rerar dlewdicdier a9 dEar gaiandsT Q.

a) 3¢ b) R c) d) 3%
48 + |:| =79. Fill in the box with correct option.

a)31 b) 29 c)21 d) 39
Th dl = e fAfe.

a) oo b) €o C) Yo d) 9
1 Hour = ... minutes.

a) 100 b) 60 c)50 d) 15

T UaTdl fFAd 3 &, , a¥ 3T & U fhdAd fopd?

a) ? b) 21 c) £« d) W
What is the price of 6 pens at the rate of Rs.3 per pen?
a)9 b) 21 c) 18 d) 24

Grelioitdhr FHIUTr (v gEar 3aa?

a)k+ 9 b) b -9 Cc) bx3 d) & + ¢
What is the following is a an odd number.

a)9+5 b)7-5 c)7x3 d)6+8
R a¥Ueh I:I Yo

a) < b) > c) = d) a

2 ten’s |:| 50

a)< b) > c)= d)a

Qrellel TATTel HEAT HTell o7 .

99,30,¥9,60,99, ........

a) 9 b) 2 c) %o d) ¢
Complete the number pattern in the following questions

15, 30, 45, 60,75, ........
a) 95 b) 92 c) 90 d) 98

"R o PaT gl AT 339 Pal ool AT UIETd aTolel o caredrehs fohell $al fRIeoreh
fgen?

a) bl b) 2l c) 39 d) 329

Saurabh had 450 balloons. He use 325 of them in his party. Number of balloons left with his is.......
a) 775 b) 175 c) 125 d) 325

REIFIFRIFIFRIFR = ... ?

a) g% b) £ c) ¢¢ d) 0

2424242424242 is same as ..............7

a) 14 b) 12 c) 18 d) 20




64)

65)

66)

67)

68)

Grellel TEAT - SEId 99T Riegrear St ot awar Agar

220G 2w ?

a) &9 b) €49 c) 9R& d) W&
Which of the following replaces “ ? ’ in the given below number bonds?

= S5
327 949 2

a) 625 b) 652 c) 526 d) 256

(,8, 8 3,3 ¥, 9, ¢ 3 3, ¥3) IT &I Alfelhd * 2’ & 3iF [hdl dadT Telall 3T8?

a) & b) 4 c) 3 d) ¥
(2,4,6,3,2,4,5,1, 2, 3,4, 2) in this number pattern how many times ‘2’ comes ?
a)6 b) 5 c)3 d) 4

Grellel 9T IeTd o JHUTT &AT 3oadT.

a) ¢ b) 0 c) W d) 32
0dd man out.
a) 18 b) 21 c) 27 d) 32

GTolTel 96T UeeTiegrear el At AU TEAT QM.
Yo 33, W, &, ?

a) %o b) ¢¢ c) ¢ d) ?
Select the option to complete the given number series.

40, 32,24, 16, ?

a) 10 b) 11 c)8 d)9

a)s b) ¥ c) 3 d) R
Find the number of squares in the given figure
a)5 b) 4 c) 3 d) 9




Grellel 9T JThcil Aol Tidide hal ool o 3 MTehcarees e,
URa 3Tehcll

S
wamg—cﬁm
R Y ) PR I A O Ry
a) b) c) d)

Find the water image for the question figure from the answer figure.
Question Fig.

R

AnswerFig.
N S o PR I D S ) R TN
a) b) c) d)

Qrellel Y9l 3Tehcliel 3RS TfddAT el fGher & 3o A LT 3wyl
TR 3Tl

2
SR g

a) b) c) d)

Find the mirror image for the question figure from the answer figure.
Question Fig.

G

Answer Fig. o
e e
a) b) c) d)

10
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| —



71)

72)

Grellel TRATd T MMl ceilcic S[BUMT JHTehell AT fo¥asr.
URa 3Tehcll

B
BEE
a) b/)m

c) d)

Out of the given group of figures find out an exact similar figure to the given question figure.
Question Fig.

B

Answer Fig. e

N B

X a5

2) b) ) d)
Wrelel ATt et FIegrear Sl A0y 3mpedy Qier.
e 3Tehell

D N o ?
Lo v T -

3AT HThar

C

a) b) c) d)
Find out suitable figure at place of question mark.
Question Fig.
L Cg 06 O o ?
Answer Fig.

a) b) c) d)

11
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73)

74)

75)

76)

77)

78)

79)

TGrellel YT ITETc o SHUTRY 3Tehcll ATeM.

] ][] [+

a) b) c) d)

Find odd figure out.

] ][] [+

a) b) c) d)

ATAAGT T T ATRI?

a) HIUH b) gar c) &8 d) wrofr
Who does not live on land.
a) Man b) Air ¢) Plant d) Animal

9Tl ; Idgeie ; ; fgarer ; ?

a) gar b) ST c) X d) a9
Mansoon : Raincoat : : Winter : ?

a) Cold b) Umbrella c) Sweater d) Temperature
I o SHUN UE NGB

a) HHD b) HEaTHIS c) guR d) igaa

Find the odd man out:

a) Morning b) Evening c) Afternoon d) Day

fRIe Jatr Gt Adr 31mg. guT hefehl FIOAT YT ol 378, X Hald HIS HoT?

a) frder b) gforr C) hclehr d) fIder T Shaehr
Supriya is taller than Shital but ketaki is shorter than supriya then who is the tallest?
a) Shital b) Supriya c) ketaki d) Shital & Ketaki

T IcH § Wil PIUTAT ST HAToldh Mg ?

a) ATIHIEFT b) &I c) faser d) selerardy
Which of the following companys owner is Bill Gates?
a) Microsoft b) Cyber c) Windows d) Blackberry

T T ATdI IAaRT AT 3T |, AGRISE A I arRy A5er?

a) Ifaar b) AFAR c) afdar d) FITBAR
One year, The Christmas day was on Sunday on what day will Maharashtra day fall?
a) Sunday b) Monday c) Saturday d) Tuesday

12
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80)

81)

82)

83)

N

a) 2%

b) 2°

c) ¢

d) ¢

What is the sum of numbers only inside the triangle in the fiven figure?

a) 19

b) 21

c)12

b =9 9 =30, 3=2¢ ATy gl TEar HW fogra?

a) ¢&

b) ¥

c) ¢«¢

In a coded language, 7 = 56, 5 = 30, 3 = 12
How will you write 4 =?

a) 16

Teh dRYT AGR ghar. o giel IFar fahell aREer ASer?

a) ¢

If one falls on Sunday, what is the date on next Sunday?

a)8

J43€3493¢934Y93E343¢
T 3iF AT FaTd AT dbl Tl 3 HIoTdr?

a) &

Which of appears minimum times in given number series.

b) 24

b) b

b) 7

b)

c)18

C) ¢¥

c) 14

c) ¥

25363531535263536

a)6

b) 2

——

c)4

13

d) 17

d) R0

d) 20

d) 6

d) ¢

d)1

—



84)

85)

86)

87)

88)

89)

90)

QI 3NBE BIUAMHTS! FHIUTAT AlATGIET dToR gler?

a) S b) SiaT c) =R d) el
By which sense organ you come to know tune?

a) Tongh b) Eyes c) Nose d) Ear
HERTSET HEIHAT 10T e cA?

a) A9 gar b) 3720 TgIoT

c) GRSl egror d) &dg B

Who is the chief minister of Maharashtra?

a) Ajit Pawar b) Ashok Chavan

c) Pruthviraj Chavan c) Devendra Fadanvis

HERISE ToATdr JTSTUTAT PIOTAT?

a) HS b) gor c) AT d) 3iRameTe
Which is the capital of Maharashtra?

a) Mumbai b) Pune c) Nagpur d) Aurangabad
HRATY Td9HTeT ST 3Rd?

a) AdAR g b) G TaR c) afaar e d) #¥g ARr
Who is the prime minister of india?

a) Manmohan Singh b) Sharad Pawar

c¢) Soniya Gandhi d) Narendra Modi

@@aﬂ@rﬁmﬂwaﬁm

a) TSRy b) HET HREHRT TSR
c) fSregr grelre 3rfaaTs d) Siegr aRwe

Which of the following is head of district?

a) Collector b) Chief Executive Officer
c) District Superintendent of Police d) Zilla Parishad

AT ST & WZ oA Woarelt Faferd 31g?

a) AHLTS b) Fagar c) SifagEaT d) fohehe
With which games Abhinava Bindra belongs?
a) Shooting b) Kabaddi c) Boxing d) Cricket

grelerddhr Ad=ar 3uAeft aga FHiora?

Which of the following is a agricultural utility vehicles?

14
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91)

92)

93)

94)

95)

96)

97)

98)

RIaTel AGRISAT 35T A1d T glad?

a) TEaTS b) fSemers c) AgaTS d) Irddr AT
What was the name of Shivaji Maharaj’s Mother ?
a) Saibai b) Jijabai c) Yesubai d) None of these

GreileldhT HETICAT PIUTAT FgOTATT?

a) 9f3d =ig® b) H s aIET ¢) SAIARIEG P d) 37. JETARY 3SR
Who is called “Mahatma ” from the following?

a) Pandit Nehru b) Sant Gadge Baba c) Jyotirao fule d) Dr. Babasaheb Ambedkar
HRATY TSET Bol HIUTA?

a) Iele b) FHD c) AR d) #ARRI

Which is the national flower of India?

a) Rose b) Lotus c) Peacock d) Mogra

YT ASCESIT THOT favell T 3MRT?

a) IR b) &t c) Ut d) e
How many colors are in our national flag?
a) Four b) Two c) Five d) Three

‘ eTgolshiaY * hamely FEfa 3me?

a) gy 3cUleaTd dle b) ¥effH 3cUTEaATd are

C) IAed¥led 3cUlGald die d) dR@AT 3cUleATd dle
“White revolution” is related with .......cccccceeueeee.

a) Increase in milk production b) Increase in Silk production

c) Increase in Food production d) Increase in Coconut production
alerararear fohee dvrcar Segara 3me?

a) 3iRemere b) SiTel=TT c) gor d) IIeTE
“Daultabad Fort” is located in which District?

a) Aurangabad b) Jalna c) Pune d) Raigad

GTolToTdehl SHIUTTET w8¢¥ T Aldel TRAINS HBTe 3Te?

a) HellelT JEHSIS b) 31U gaIR

c) g AGr d) ATl TeeX
Which of the following won the Nobel Prize 20147

a) Malala Yousafzai b) Anna Hazare

¢) Narendra Modi d) Manoharlal Khattar

TraTell HAGRISAT S VTN fheedray STaT?

a) e b) fra=dr C) JdT9ars d) IS
On Which fort Shivaji Maharaj was born?
a) Kandhana b) Shivneri c) Pratapgadh d) Raigad

15
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99)

IREN.TT & IAETT HIUTAT FIATST el SI?
a) gfgell d @grdl  b) gEdr o egrdr c) 9rgdr o #Aqdr

R.T.S. Exam is conducted for which class?
a) 1t To 10t b) 2"dTo 10t c) 5" To 9t

100) 3 STOTAT $agT HIOTAT aTg, 3T

d) gadr & adr

d) 27 To 9th

a) PEAST ATFARS b) grEISTe

c) et d) g are

Which gas is present in the ballon which goes high?

a) Carbon Dioxide b) Hydrogen

c) Oxygen d) Steam Of Water
[ )



